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Q! What would be the result for the following expression?

4+4+4+4)=2
24242422
Ans

X1
X 2
X s

4.

Question 1D : 5410783677
Status : Answered
Chosen Option : 4

Q.2
Choose the option that best substitutes the underlined phrase in the given sentence without changing the meaning of the
sentence.

I
X 2 Fratricide
v 3 Patricide
X 4 Matricide

Question 1D . 5410783657

Status : Answered
Chosen Option : 3

Q.3 Ina certain code, COVER is written as EQXGT. How will SUBJECT be written in that code?
Ans . X 1. UWDLGEU

X 2 UWDLGFV

v : UWDLGEV

X « UWDMGEV

Ou i 1D 54107828241
Question 1D : 54107

Status : Answered
Chosen Option : 3




Q4 Express the following decimals in fractions.
0.025

Ans

1
1, ——
x 250
1
2. ——
25
1
3. —
40
1
4. —
4

Question 1D : 5410783679
Status : Answered
Chosen Option : 3

Q5 consider the following statement to be true even if it seems to be at variance from commonly known facts and decide
which of the conclusions logically follows from the statement.

Statement: The principal of the school punished all the students of class X.

Conclusions:
I: The students are guilty of coming late to school.

II: The principal hates the students.

Ans - X 1. Only conclusion IT follows
X 2. Only conclusion I follow

X 3. Both conclusions follow
o 4 Neither conclusion I nor II follows

Question ID : 5410783626
Status : Answered
Chosen Option : 2
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Question ID : 5410783646
Status : Answered
Chosen Option : 2

Q.7 Four parts of the following sentence have been underlined. Select the part that is INCORRECT.

The past of man have been on the whole a pretty beastly business. a business of fighting, bullying and hurting.
Ans  of . man have been

& 2 on the whole
xa bullying and hurting

X * beastly business




Question ID : 5410783659
Status : Answered

Chosen Option : 1

Q8  isused to measure the force and velocity of wind.
Ans  of 1. Anemometer

X 2 Barometer

X 3 Lactometer

X 4 Milometer

Question ID : 5410783716
Status : Answered

Chosen Option : 4

Q9 gelect the option that will correctly replace the question mark (?) in the series.
35, 46, 63, 86, ?

Ans X 1.113
X 2112
X s 111
v 115

Question ID : 5410783634
Status : Answered

Chosen Option : 4

le Select the option that will correctly replace the question mark (?) and complete the following series.

XVS, VTQ. TRO, RPM, ?
Ans X 1. PKN

X 2 KMP
X 3 KNP
W+ PNK

Question ID : 5410783648
Status : Answered

Chosen Option : 4

Ql'l Select the most appropriate antonym of the given word.
OUTSTANDING
Ans - X 1. Wonderful

X< 2. Arrogant
X 3 Evident
« 4 Ordinary

Question ID : 5410783674
Status : Answered
Chosen Option : 4
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Ans of 1. B
X2D
X3 F
X+ E

Question ID : 5410783632
Status : Answered
Chosen Option : 2

Q.1 In a certain code, AUTHOR is written as ZTSGNQ. How will WRITER be written in that code?
3

A1 X 1. VQSHDQ
V> VQHSDQ
X 3. VSQHDQ
X 4 VQHDSQ

Question ID : 5410783637
Status : Answered
Chosen Option : 2

Q1 Select the most appropriate synonym of the given word.

EFFICIENT
Ans - X 1. Attentive

« 2 Competent
X 3. Diligent
X 4 Careful

Question ID : 5410783675
Status : Answered
Chosen Option : 2

Q.1 If‘A-B’means A is mother of B, ‘A § B, A is daughter of B. ‘A @ B’ means A is father of B and ‘A=B’ means A is
5 sonofB.

IfM-N@ O § P, then how O is related to M?

Ans - X 1. Wife
« 2. Grand daughter

X 3. Grand Father
X 4 Husband

Question ID : 5410783642
Status : Answered
Chosen Option : 2

—




Qél Select the option that is related to the third term in the same way as the second term 1s related to the first term.

2 i B B i) b

ans o 1240
X 2221
X 3 235
X 4210

Question ID : 5410783638
Status : Answered
Chosen Option : 1

Q1 Samarth can complete a work in 6 h. Soumik can complete same work in 8 h. How long should it take for both
7 Samarth and Soumik working together but independently. to do the same work?

S
xu%d

2.3111

An

33=-d

4.4

SRRV B R

Question ID : 5410783692

Status : Answered
Chosen Option : 3

Q1 Four parts of the following sentence have been underlined. Select the part that is INCORRECT.
8

According to scientists. the earth was first a globe of highly heared gas, then it became liquid and with further eooling a
crust formed in the liquid interior.

Ans  of 1. in the liquid interior
X 2. According to scientists
& 3. then it became

X 4 with further cooling

Question ID : 5410783658
Status : Answered

Chosen Option : 3

% Identify the LCM of the numbers 32, 16 and 9 among the options.
Ans x 1.9

X2 32

X3 114

v . 228

Question ID : 5410783682
Status : Answered
Chosen Option : 4

| |




%? What would be the result of the following expression
(971+29] —(971-29F
2x971x29
Ans J 1.2
X221
X338
X4 4

Question ID : 5410783699
Status : Answered

Chosen Option : 1

Q.2 National Human Rights Comumission celebrated its silver jubilee on October 12. 2018. which was held in the city off
1

Ans - X 1. Faridabad
' 2 New Delhi
X 3. Gurugram

X 4 Noida

Question ID : 5410783708
Status : Answered
Chosen Option : 2

Q.2 As score is 2 times of that of B and the sum of scores of A and C are 150. If the score of B is 36. then what is the score
of C?

Ans X 1. 72
v 2 78
X 3 150
X 4 36

Question ID : 5410783698
Status : Answered

Chosen Option : 2
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Ans X1 D
X2F
X3 E
viB

Question ID : 5410783639
Status : Answered
Chosen Option : 4

Qf Which Article of the Indian Constitution is related to "Abolition of Untouchability”?

Ans 1.




X 2. Article 25
X 3. Article 15
o & Article 17

Question ID : 5410783715

Status : Answered

Chosen Option : 4

Q.2 Lack of vitamin D can lead to . in which weakness is observed in children. whereas aches and pains are observed

in adults owing to calcium-deficiency in bones. called osteomalacia.

Ans - X 1. Beriberi
X 2. Scurvy
v 3 Rickets
X 4 Anemia

Question ID : 5410783718

Status : Answered
Chosen Option : 3

Qéz Find the surface area (in cm) of a cube with one of its side as 6 cm.
Ans X 1296

X 2. 286
X 3 36
v 216

Question ID : 5410783694

Status : Answered
Chosen Option : 4

Q2
7 'Which of the following fractions is greater than g and lesser

than =7
¥
Ans

Question ID : 5410783681
Status : Answered
Chosen Option : 2

|
Q.2




8 Four words have been given as options. out of which three are alike in some manner, while the fourth one is different.
Choose the odd one.

Ans X 1. WINDOWS
« 2 C SHARP
X 3 UBUNTU
X 4 ANDROID

Question ID : 5410783628
Status : Answered

Chosen Option : 3

%? Which of the following states is the largest producer of saffron?
Ans - X 1. Sikkim

v 2 Jammu and Kashmir

& 3. Arunachal Pradesh

& 4 Uttar Pradesh

Question ID : 5410783724
Status : Answered

Chosen Option : 2

%° Find the value of the following expression:
101x101+99x99
Ans X 140001

< 230003
W 3 20002
X< 420001

Question ID : 5410783696
Status : Answered

Chosen Option : 3

Q3 The statement given below is followed by a conclusion that may or may not be drawn from the statement. From the
1 given options. select the correct comment about the conchision.

Statement: All tall people are infellectuals. Dev is tall.

Conclusion: Dev is an intellectual.

Ans - X 1. Probably true

W 2 True
X 3. Can’t say

X 4 False

Question ID : 5410783640
Status : Answered
Chosen Option : 2

Q.3 1If *‘A+B’ means ‘A is the son of B'. *A-B’ means ‘A is the daughter of B', *A&B’ means ‘A is the father of B and
‘A{@B’ means “A is the mother of B', then what does P+R@Q mean?
Ans 1




X 2. PisthesonofQ
X 3. P is the daughter of Q
« 4+ P is the brother of Q

Question ID : 5410783645
Status : Answered
Chosen Option : 4

%3 Identify the LCM of the numbers 28, 16 and 12 among the options.
Ans - X 1. 160

v 2 330

X 3 448

X 4192

Question ID : 5410783684
Status : Answered

Chosen Option : 3

Q43 Which one of the following options is the right form of the sentence which has been framed using the given parts?
Three years/ in Greece/ has been /the past/ for Sujoy / working

Ans - X 1. Sujoy in the past three years has been for working Greece.

X 2. Three years in Greece Sujoy has been working for the past.

« 3. Sujoy has been working in Greece for the past three years.

X 4 Sujoy in the past three years in Greece has been working

Question ID : 5410783660
Status : Answered

Chosen Option : 3

Q.3 Four words have heen given out of which three are alike in some manner. while the fourth one is different. Choose ont

5  the odd one.

Ans o 1 Kenya
& 2. Colombo
X 3 Oslo
X 4 Beijing

Question ID : 5410783644
Status : Answered
Chosen Option : 1

fo Of the given four options, choose the one sentence that has no errors.

Ans x 1.

Today Chinese possess many strategies that may improve their yield.

x2.




Sam was very noticeable in his class and his friendly behavior endeared him to others.

J3.

The app was devised in such a way that it could self- destruet on its own within a particular period of time.

X 4 We should not trespass on private grounds.

Question ID : 5410783668
Status : Answered

Chosen Option : 4

Q3 1fone cup of ghee gives 1/5™ of the required amount of fat, then, what is the amount of fat provided by 3 cups of ghee
7

An

° X L

| = L | b

v
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Question ID : 5410783697
Status : Answered

Chosen Option : 3

Q8'3 Select the option that will correctly replace the question mark (?) in the series.
6. 11,19, 30, ?

Ans X 149
X 2 47
X 3 45
44

Question ID : 5410783627
Status : Answered

Chosen Option : 4

Qég Identify the missing number that follows the same relation as the pair given;
285:15:0471: 2
Ans X115
X211
X 3 10

Wi

Question ID : 5410783643
Status : Answered
Chosen Option : 4

Q64 Choose the option which can be used to explain a trait of Ravi’s based on the first sentence.

Ravi talks a lot to explain something very trivial. He is




Ans o 1 garrulous
X 2. pragmatic
X 3. banal
X 4. friendly

Question ID : 5410783672
Status : Answered
Chosen Option : 1

Qi Queensberry rules ' is related to which of the following games:
Ans - X1 Swimming

« 2 Boxing

X 3 Wrestling

X 4 Lawn Tennis

Question ID : 5410783705
Status : Answered

Chosen Option : 2

Q2'4 Fill in the blank with the most suitable words.

I am not going to the haphazard working style of my maid servant.
Ans  of 1 put up with

X 2. cope with
X 3. put down
X 4. put on with

Question ID : 5410783666
Status : Answered

Chosen Option : 2

Q:,;4 A bag is bought for ¥2.000 and sold at a loss of 5%. Find its selling price.
Ans X 1 2975

X 2 71,872

W 3 #1,900

X 4 31,935

Question ID : 5410783691
Status : Answered
Chosen Option : 3

o Identify the HCF of the numbers 15, 30 and 52 among the options.




Ans Jl. 1
X 2 30
X3 2
X 4 15

Question ID : 5410783685
Status : Answered
Chosen Option : 1

Q54 Who inaugurated the 5t edition of the Global Conference on Cyber Space?
Ans  of 1. Narendra Modi

X 2 Shushma Swaraj

X 3. Ram Nath Kovind
X 4 Devendra Fadanvis

Question ID : 5410783707
Status : Answered

Chosen Option : 1

Q4 walmiki and Malhar are the two unknown languages discovered in by a linguist from the University of
Hyderabad.

Ans o 1. Odisha
X 2 Rajasthan
X 3. Bihar
X 4 Kerala

Question ID : 5410783704
Status : Answered
Chosen Option : 2

Q4

5 Choose the most appropriate synonym of the underlined word in the given sentence:

I had a fleeting moment of panic but I recovered quickly.

Ans - X 1. Definite
v 2 Brief
& 3. Durable
X 4. Flaring

Question ID : 5410783663
Status : Answered
Chosen Option : 2

%* To which civilisation can the port town of Lothal be traced to?
A1 X 1 Deccan Valley Civilisation

X ? Dravidian Civilisation




X 3 Indo-Greek Civilisation
' 4+ Harappan Civilisation

Question ID : 5410783719
Status : Answered

Chosen Option : 3

% Gammatiha is a folk dance drama of which of the following state:
Ans - X 1. QOdisha

X 2 Bihar

+ 3. Chhattisgarh

& 4 Tharkhand

Question ID : 5410783712
Status : Not Answered
Chosen Option : --

%’ Indian Institute of Spices Research is located in
Ans . X 1. Tamil Nadu

v 2 Kerala

X 3. Karnataka

& 4 Andhra Pradesh

Question ID : 5410783723
Status : Not Answered

Chosen Option : --

Comprehension:

Read the following passage and answer the questions given below:

This new rolling carry-on from the American Tourister line was designed
to solve one of your most vexing travel problems: being able to pack
light enough on an outbound flight to avoid checking luggage, but having
adequate room on the return for all the goods acquired on your journey.
Other expandable luggage may give you a few inches of extra space, but
this one nearly doubles in volume and, amazingly, has rigid walls, even
when fully expanded. The transformation is made possible by rock-solid
hinges, which lock firmly into one of three positions. And, with a
hardshell exterior that’s faceted for strength, and you’ve got a suitcase
that'll outwit even the most reckless baggage handler. The line goes on
sale next month: Plan your itineraries accordingly.

SubQuestion No : 51
Ql'5 What is NOT the unique feature of the product described in the passage?
Ans - 1. Tt is light enough to be carried in the flight

X % It expands double in size and the side walls are still rigid




' 3. Tt is the most preferred brand product among travellers

X 4 It is a famous brand product and is of good quality

Question ID : 5410783654
Status : Answered

Chosen Option : 3

Comprehension:

Read the following passage and answer the questions given below:

This new rolling carry-on from the American Tourister line was designed
to solve one of your most vexing travel problems: being able to pack
light enough on an outbound flight to avoid checking luggage, but having
adequate room on the return for all the goods acquired on your journey.
Other expandable luggage may give you a few inches of extra space, but
this one nearly doubles in volume and, amazingly, has rigid walls, even
when fully expanded. The transformation is made possible by rock-solid
hinges, which lock firmly into one of three positions. And, with a
hardshell exterior that’s faceted for strength, and you’ve got a suitcase
that’ll outwit even the most reckless baggage handler. The line goes on
sale next month: Plan your itineraries accordingly.

SubQuestion No : 52
% What is the main idea of this passage?
Ans - X 1. Describing the luggage problem
& 2. Describing the problems in air travel
' 3. Describing a product for sales

X 4 Describing travel company plans

Question ID : 5410783653
Status : Answered

Chosen Option : 3

Comprehension:

Read the following passage and answer the questions given below:

This new rolling carry-on from the American Tourister line was designed
to solve one of your most vexing travel problems: being able to pack
light enough on an outbound flight to avoid checking luggage, but having
adequate room on the return for all the goods acquired on your journey.
Other expandable luggage may give you a few inches of extra space, but
this one nearly doubles in volume and, amazingly, has rigid walls, even
when fully expanded. The transformation is made possible by rock-solid
hinges, which lock firmly into one of three positions. And, with a
hardshell exterior that’s faceted for strength, and you've got a suitcase
that'll outwit even the most reckless baggage handler. The line goes on
sale next month: Plan your itineraries accordingly.

SubQuestion No : 53




Q3'5 What, according to the author, was one of the most irritating problem of travelling?

Ans J 1.
Carrying a lighter luggage but still wanting enough space for things
X 2. Not having to check in one’s luggage

X 3. Carrying more than one luggage

X 4 Carrving a lighter luggage with less space for things

Question ID : 5410783652
Status : Answered

Chosen Option : 1

Comprehension:

Read the following passage and answer the questions given below:

This new rolling carry-on from the American Tourister line was designed
to solve one of your most vexing travel problems: being able to pack
light enough on an outbound flight to avoid checking luggage, but having
adequate room on the return for all the goods acquired on your journey.
Other expandable luggage may give you a few inches of extra space, but
this one nearly doubles in volume and, amazingly, has rigid walls, even
when fully expanded. The transformation is made possible by rock-solid
hinges, which lock firmly into one of three positions. And, with a
hardshell exterior that’s faceted for strength, and you’ve got a suitcase
that’ll outwit even the most reckless baggage handler. The line goes on
sale next month: Plan your itineraries accordingly.

SubQuestion No : 54
%> What does the word ‘faceted’ mean as per the passage?
Ans X 1. battered
X 2. exposed
v 5. featured
X 4 faced

Question ID : 5410783655
Status : Answered

Chosen Option : 3

Comprehension:




Read the following passage and answer the questions given below:

This new rolling carry-on from the American Tourister line was designed
to solve one of your most vexing travel problems: being able to pack
light enough on an outbound flight to avoid checking luggage, but having
adequate room on the return for all the goods acquired on your journey.
Other expandable luggage may give you a few inches of extra space, but
this one nearly doubles in volume and, amazingly, has rigid walls, even
when fully expanded. The transformation is made possible by rock-solid
hinges, which lock firmly into one of three positions. And, with a
hardshell exterior that’s faceted for strength, and you've got a suitcase
that’ll outwit even the most reckless baggage handler. The line goes on
sale next month: Plan your itineraries accordingly.

SubQuestion No : 55

Q.5 What does the author mean by the phrasea "a suitcase that’ll curwit even the most reckless baggage handler’?
5

Ans J 1.
A suitcase that would fare better even when handled by the most careless baggage handler
x 2.
A suitcase that is smarter than the most casual baggage handler
x 3.

A suitcase that can be easily handled by the most irresponsible baggage handler
4,

X

A smart suitcase that can be easily handled by any baggage handler

VUEbliUII 1. 041U7065000

Status : Answered

Chosen Option : 3

Q.5 Amit walked 5 km towards South. then he took a left turn and walked 12 km. Now which direction is he facing?

6
Ans - X 1. South
X 2. South-east
X 3. North-east
' 4 East
Question ID : 5410783633
Status : Answered
Chosen Option : 4
Q5 is used commercially in the preparation of jellies. jams and marmalades because of its ability to formn a thick gel-

7 like solution.

Ans - X 1. Maltose
v 2 Pectin
X 3. Lactose
X 4 Glucose

Question ID : 5410783717
Status : Answered




| Chosen Option : 2 I

QQS Hindon Elevated Road, India’s longest elevated road. was inaugurated in which city?
A of 1. Ghaziabad

X 2 Agra

X 3. Varanasi

X 4 Lucknow

Question ID : 5410783709
Status : Answered

Chosen Option : 1

% IfA:B=1:3,andB:C=5:7thenA:B:Cis___ .
Ans X'1.5:12:21
N 28522921
V3 5:15:21
X41:15:7

Question ID : 5410783687
Status : Answered

Chosen Option : 3

Qdﬁ Fill in the blank with the most suitable word.

heavy rains all schools have been closed for the next three days.
Ans X 1. In the event of

+ 2. On account of
X 3. Meanwhile
X 4. In spite of

Question ID : 5410783664
Status : Answered

Chosen Option : 2

%°® Alphonso is a variety of
Ans - X 1. Guava
X 2. Cherry
« 3 Mango
& 4 Peach

Question ID : 5410783725
Status : Answered

Chosen Option : 3




Qz'e Find the simple interest (in ) on %16,200/- at the rate of 8% per annum for 2 years.
Ans K 12,598

X 2 2.684

' 2592

X 4 2.596

Question ID : 5410783688
Status : Answered
Chosen Option : 3

Qéﬁ Fill in the blanks with the most suitable words.

Dolphins are regarded as the creatures in the sea and stories of them helping sailors have been
since Roman times.
Ans  of 1 friendliest, drowning, common
X 2. friendly, worried, common
X 3. dangerous, suffering, regular

X 4 friendliest, suffering. occasional.

Question ID : 5410783667
Status : Answered
Chosen Option : 1

Q.6 Four words have been given as options out of which three are alike in some manner, while the fourth one is different,
Choose the odd one.

Ans - X' 1. FINGER
X 2 LEG

X 3 EAR
v« LUNG

Question ID : 5410783636
Status : Answered

Chosen Option : 4

QE;G The Hornbill Festival is one of the important festivals celebrated in
Ans - X1 Meghalaya

X 2. Mizoram

& 3. Arunachal Pradesh

« 1. Nagaland

Question ID : 5410783711
Status : Answered
Chosen Option : 1

Qﬁ'ﬁ Humayun was defeated by Sher Shah Suri in the battle of Kannauj in the year .

Ans




X L1539
v 2 1540

X 3 1545
X 4 1541

Question ID : 5410783721
Status : Answered

Chosen Option : 2

Q7'6 Choose the most appropriate ANTONYM of the underlined word in the given sentence:

People build different types of houses for living.
Ans - X' 1. Contrasting

X 2 Equal
v 3 Similar
X 4. Changing

Question ID : 5410783661
Status : Answered

Chosen Option : 3

Q6 Select the option that is related to the third term in the same way as the second term is related to the first term.
Kenon: Inert gas : : Uranivm ; 7

Ans - X 1. Non-metal
X 2 Gas
+ 2 Radioactive element
/X 4 Inert gas

Question ID : 5410783630
Status : Answered

Chosen Option : 3

Q.6 1f a7 is replaced by ‘=, B is replaced by ‘—* ‘C” is replaced by = and ‘D’ is replaced by *>°, find the value of the
9 following expression.

200A300C15D5SBSS

Ans K 155

v 2 245

X 3 351

X 4 265

Question ID : 5410783635
Status : Answered
Chosen Option : 2

Q7 Government has launched ‘Nirman Kusuma® programme for providing financial assistance to the children of

0 construction workers for their technical education in the state.

AT K L Telengana

X % Madhya Pradesh




X 3. Andhra Pradesh
« + Odisha

Question ID : 5410783714
Status : Not Answered

Chosen Option : --

Ql'7 Five words are given below. Read the words carefully and arrange the words in a meaningful sequence.
1. Cop
2. Punish
3. Crime

4. Judge

5. Judgement
Ans  of 1. 3,1.4,5.2

X 212354
X 33,1542
X 4 321,54

Question ID : 5410783650
Status : Answered

Chosen Option : 1

Q.7 A scientist prepares a mixture with two chemicals: chemical 1 and chemical 2 in proportion of 2:3 and makes a total
2 concoction of 150ml. How many ml of chemical 1 has been used?

Ans X120
v 2 60
X 3 90
X 4 80

Question ID : 5410783701
Status : Answered
Chosen Option : 2

Qa;7 An old lady crosses an 800 m long street in 10 min. What is her speed in km/h?

A of 1 4.8
X254
X336
X 406

Question ID : 5410783693
Status : Answered
Chosen Option : 1

2" YWhat is the value of 35 x 2 +20 - 10?

Ans 1.




v 2 80
X 31050
X 4 60

Question ID : 5410783700
Status : Answered
Chosen Option : 2

Q.7 A lends a loan amount of %2.50,000 to B at the simple interest of 6% per annum for a year, What is the total amount (in
5 %) of interest paid by B?

Ans  of 1. 15,000
X 2 16,500
X 3. 12,000
X 4 52,500

Question ID : 5410783689
Status : Answered
Chosen Option : 1

Qg Kishore purchased an apple for 25. What would be the selling price to get 25% profit?

Ans X1 31.50
X 2 %31.75
v %3125
X4 Z31

Question ID : 5410783690
Status : Answered

Chosen Option : 3

Q7'7 What would be the result for the following expression?
4+18x2-6=3

Ans X1 36
v 2 38
X 3 40
X 4 48

Question ID : 5410783678
Status : Answered
Chosen Option : 2

Q; Which of the following is not an important site of the Indus Valley civilisation?
Ans - 1. Harappa

X 2. Mohenjodaro

« ° Dibrugarh

X * Lothal




Question ID : 5410783722
Status : Answered
Chosen Option : 3

Q.7 was appointed as the Director-General of Couneil of Scientific and Industrial Research in October 2018.
9

Ans  of 1. Shekhar Mande
X 2. Ashutosh Sharma
X 3. Arcot Ramasamy Mudaliar

X 4 Shanti Swaroop Bhatnagar

Question ID : 5410783703
Status : Answered

Chosen Option : 2

Q8 Read the following paragraph carefully and answer the question given.
0
Ina zoological park S animals were placed in cages in a row.

The cage of “Tiger' is to the left of “Lion" and to the right of ‘Cheetal’. The cags of ‘Python’ is to the right of ‘Lion".
The cage of *Puma’ is between ‘Lion’ and ‘Python’.

Which animal is immediate left to “Puma’™?

Ans - X 1. Python
X 2 Tiger
V'3 Lion
# 4 Cheetah

Question ID : 5410783649
Status : Answered

Chosen Option : 3

Ql's Identify the GCD of the numbers 32, 64 and 256 among the options.
Ans X1 §

X 2 64

X3 16

v 32

Question ID : 5410783683
Status : Answered

Chosen Option : 2

Q2'8 Fill in the blanks with the most appropriate idiom for the following context.

If only Sara stopped , she would have many friends.
Ans - X 1. acting her age

Xz having an Achilles heel




X having an acid test
'« acting high and mighty

Question ID : 5410783671
Status : Answered

Chosen Option : 4

Q3'8 What would be the number in units place of the following expression
122x128x961x 826
Ans X1 4
X 22
X1
vie

Question ID : 5410783695
Status : Answered

Chosen Option : 4

Q8 Find the value of the following expression.
106 x106+94 x94
Ans - X 120036

W 2 20072
X 320049
X 420098

Question ID : 5410783686
Status : Answered
Chosen Option : 2

%* Choose the option that can be substituted for the given phrase.

Action of reviewing past events in one’s life
Ans - 1. Introspection

X 2. Meditation

X 3. Reflection

« 4. Retrospection

Question ID : 5410783673
Status : Answered
Chosen Option : 4

%® Select the most appropriate synonym of the given word.

SPONTANEOUS

Ans 1.




« 2 Impulsive
X 3. Concurrent
X 4 Planned

Question ID : 5410783676
Status : Answered
Chosen Option : 2

Q7'8 If Raja is facing West and turns 270° CW and 90° ACW. In which direction he is facing now?

Ans - X1 West
X 2 South
« 5 East
X 4 North

Question ID : 5410783629
Status : Not Answered

Chosen Option : --

Qés Choose the most appropriate ANTONYM of the underlined word in the given sentence:

The traditional approach to teaching is not very effective today.
Ans  of 1. Modern

X 2. Conventional
X 3. Outmoded
X 4 Neo-classical

Question ID : 5410783662
Status : Answered

Chosen Option : 3

Q8 six words are given below read the words carefully and arrange the words given below in a meaningful sequence .

1. Tiger

2 Dog

3. Cat

4. Ant

5. Elephant
6. Mice

Ans X1, 1,2.3.4.5.6
V2 463.2.1.5
x 3. 6,5,493'_«2,1

X 4 462,135

Question ID : 5410783647
Status : Answered
Chosen Option : 2

Q.9




° sikkim became an Indian state in the year:

Ans X 11970
X 2 1974
X 3 1972
v 2 1975

Question ID : 5410783726
Status : Answered
Chosen Option : 3

%° The mascot of Men’s Hockey World Cup, 2018 was .
Ans - X1 Syd

v 2 Olly

X 3 Lizzi

X 4 Millie

Question ID : 5410783706
Status : Answered

Chosen Option : 2

Q.9 Which two words were added to the Preamble of the Indian Constitution by the 42nd Amendment in 19762
2

Ans - X" 1. Secular , Democratic
« 2 Socialist, Secular
X 3. Fraternity , Liberty
X 4 Democratic , Republic

Question ID : 5410783713
Status : Answered

Chosen Option : 2

Qa;g Which female athlete is nicknamed as ‘Dhing Express’ after her village’s name?

Ans  of 1 Hima Das
X 2. M R Poovamma
X 3. Sarita Gayakwad

X 4 Mary Kom

Question ID : 5410783702
Status : Answered
Chosen Option : 1

%Y Ofthe given four options, choose the one option that has error in it.

Ans - X 1. Precede, stationary, censure, complement

X % Arithmetic, ensure, lose, complement




X 3. Weird, fascinate, breathe. chief

« 2. Conscience. definite, dependent, occur

Question ID : 5410783670
Status : Answered
Chosen Option : 4

Q9
5 Which of the following fractions is greater than é and lesser

—
o

Question ID : 5410783680
Status : Answered
Chosen Option : 2

Q9 Fill in the blank with the most suitable word.

A teacher who teaches younger children should have patience.
Ans of 1 infinite

X 2. indefinite

X 3. inclusive

X 4 independent

Question ID : 5410783665
Status : Answered

Chosen Option : 1

Q.9 Four words have been given as options. out of which three are alike in some manner, while the fourth one is different.
7 Choose the odd one.

Ans - X' 1. ANACONDA
v 2. MONGOOSE
X 3. PYTHON
X 2 COBRA

Question ID : 5410783641
Status : Answered
Chosen Option : 2

o




8 . 3
Of the given four options, choose the one sentence that has no errors.

A XL My boss complemented me on my work performance.
b,
The class was very quiet when the teacher was giving a lecture.
S s
The school principle refused to give permission to attend the match.
v

The sight of the animals being killed by poachers was a crime indeed.

uestion 1u - 941U 705009
Status : Answered
Chosen Option : 1

Qég The world’s longest sandstone cave named Krem Puri was discovered in which North-casterm state?

Ans X L Assam
:X 2 Tripura
IQ/ % Meghalaya
& * Mizoram

Question ID : 5410783710
Status : Not Answered
Chosen Option : --

(351 "The Champaran Satyagraha " took place in the year:
|

Ans X 11911
X 2 1919
X 3 1907
W & 1917

Question ID : 5410783720
Status : Answered
Chosen Option : 4




